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TU5+300 T=U4bfic 55000.0 55000.0

TU11+400 T3U4bfic 40000.0 40000.0

210 @-6 T23V304A-2E=3»10-TA=eT=2Y( 6203y 90000.0 90000.0

56-fit TU-C T=U4bf¢ 45000.0 45000.0

73-1 TU-C T3Uadf¢ 45000.0 45000.0

1.2.03V38» 1313V VE3V3I4I3Y 3/x3V3E3MY»AgY 182918.1 182918.1

2/x p-19, 2RW3A=T-aR3T3Y-_ 307 16318.1 16318.1

TU3+900 T3U4bAG (3363E -»T) 16318.1 16318.1

2/x p-14 OF"3Y-038C8 30600.0 30600.0

T3U4bf¢ 1-CY TU-aU 30600.0 30600.0

2/x p-13 %cUC3ICY -0=6¢8 35000.0 35000.0

8- TU T3Va4dfc 20000.0 20000.0

15-fit TU T=2U4sfcg 15000.0 15000.0

2/x p-12 2(YA=+-@=3806-3Vid30-0-3 40000.0 40000.0

T3U4bf¢ 6-fi TU-400 40000.0 40000.0

2/x p-22, @6- _ »0-2A3Y, TU13+790 T=3Uadf¢ 36000.0 36000.0

2/x P-28 2iS63T -G»ONS04-D3VUST3Y 25000.0 25000.0

TU24+300 T=U4bfic 25000.0 25000.0

L1.3.030%3gY VB3YIT4AI3Y x3Y3E30V»AcY, 31 Ardi 297193.4 2971934

2337 U3k 20000.0 20000.0

T-2-25 @306713R»Y-Uan=8»Y- _ iGY TU0+700 T3Uadfic 20000.0 20000.0

E4éad U=k 107380.9 107380.9

Uai E333T134 -0ai0C T3V4bMG 42380.9 42380.9

T-5-55 @ W»+3Y313Y-T3AY30)l40f 65000.0 65000.0

Taw=0ug U3k 28327.4 28327.4

@=AU=ACT - (450G T=Vadf¢ 28327.4 28327.4

&lapycue Ui 53723.1 53723.1

anaw3v-aill T3Vaific 53723.1 53723.1

TS T408C Uit 87762.1 87762.1
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“lae» 1 3UgY

3(1 Afailr AsT TSEE3T»E3TY»AC

T12E&»iC
AY130»YA 4
CYVE3ST3Y . (JBE3. [BlyT3
15291895k ©1 T212520U°8k yEYSYEsIsY e boYusiig™ U B 1N
> = T o A e A SITCIY»AC - 1ai P»YU»fiC AR R L a0 anr313y, et
S = ) 2(120a6@0°3A S, YY) RCYABAIABYY»fiC 2 T34CTSE
"6‘ ] 0 ISEéx»i¢ RCYASAUATYY»AiC T2acT=t - »EI»YC3- I3Ee»ii
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SEST3YUY»A
1 2 3 4 5 6 7 8 9
D303AICY -400C Uaw T3Uadic 206w -» WG iA= (T4
x3Y3&3f¢ TU107+500) 30000.0 30000.0
T-10-38 A&i4ask- 1301313V TU0+350 T3U4bfG 57762.1 57762.1
2.0=E=. [3(CY SREST3VUY»i 15066.3 15066.3
3 HEVCT=T=Y NaTadasAlasy 18100.0 18100.0
4.D-00Y3T3(CY RaTadasRlasy 2129.4 2129.4
13.EGYé&C NCUY=1A=0¢ §x=2Y=43AN=-8¢Y40AI40Y!
§ON "3YG +4046Y»AC T»AZT3Y-Y4iU! TA= - A»Aail
04 | 05 | 01 | 5o agafyoyavasiay UceasVofic ASTSEamA 2441227.9 2441221.9 0.0 0.0 0.0
+4EN=T406-F40 YA T 3TAT
02.8"3YC 313%3Y¢
HYST313{0f»f4i0, | CECe3YaiU,e»flas- 45U
04 | 06 | 01 |¢  rsire3n03TUSY e TUSY 73200.0 73200.0 0.0 0.0 0.0
UCGa636450Y»fi
PP 2202g2pAUadAU20
02E252530A0360 19,770,467.0 2,318,691.0 15,478,754.7 267,000.0 1,706,021.3
3{1 Afail?
04. T&4AT31CA CRE3YAIAI=Y, &» W 3T3Y
T263123A0=3Y (=2YASa&»13T3Y ~ T3S 103(CY
01 | 01 | 01 \ysgatsiysy Ushlgriric ASNASYAN 91257 91257
(YSE3ASAY»A¢ SRESTST3UU»AC 13641)
01.914AT=31CA CRE3YAIAIBY, S»T3T3Y
T263123A0=3Y (=2YASa&»13T3Y ~ T3S 103(0Y
06 1 06 | 01 \ysysisysy Usalgriric ASNASYAN 59,867.7 59,867.7
(YSE3034A040YV»AC SREST3T340»AG U=841)
01 [ 01 | 01 |07. ¥3AEST3Y Qui»TWY»A¢ NCUY3Y4R4- 460 136,077.0 - 136,077.0 -
3{1 ATail?
a3V30ré-Yar[RaY N2U3IVuC a3haili & =T ACT 38 N3e6»ail
- Y740 B»Yo 40,000.0 40,000.0
Eaéad USfiuC T3AY3cAC N3USIYU3ICY T»Yriay 40,000.0 40,000.0
M»03A0AYCUC UBAKC T SA1»YCEC T3AST3/ACSYC 63Up3T
{=030vac N=030YU3ICY T»>YiaYe R»Yug NCUY3Yaria- Uy 18,077.0 18,077.0
SRE3T3YUY»A
§EAENATC 3YT36 &»T3T3Y 3f-»a6! &»T3T3Y &
3¢ TASICY TSHUSTHAAAAISY T3AESTSY fYinAC 38,000.0 38,000.0
I»A3Yan4 - 46U
0L | 05 | 01 |01. =2 aul»TuY»AC RCYShA=fasAlasy 25,000.0 25,000.0 - -
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
- L A yCY3YE3T3Y S e U3ES- 1313y
= | = 152820k 21 T=T=0a00°3% YOG T4 | potonc” o s e
) 213 2[5 A 1O A => TUDIT, ! 2 T3 ACT3|
AR UT=U20gU°3A ISEémic ROV ABAUABYY»fiC BC\.:@’;U?:[Y:;’E“C B UEi'3 ;‘f); g
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
= Afail
0, TU&SUACC DD 122 2, USE3AISYC 3YT3Y »ATASYCKCI3(C
T CYASY»ACS(C eleUSu3YAIAISY CYETCTATNG SYST3AT 25,000.0 25,000.0
R»YUC S T34
02. &»T313Y 2¢3T645Al4tY Y= - al=603Y
04 | 08 1 04 levyanisocay Toywialt aa=T-cv 6,299.0 6,:299.0
04. 2640¢2A3N313Y Qui»T1Y»AC
07 | 06 | 01 RCOv=Yafa- 4l 528,520.0 - 528,520.0
= Afail
Of3YC 1A -an U3i» 136§ pARTST3Y T»YwnaY (63
ASOC AKCIECICIS) 49,000.0 49,000.0
2337 UBAK%C 2A3R3T¢ NCT3Y13Y40 80,000.0 80,000.0
Pb 23 - 3TATYC USAUC 0. 2RT3A3T¢ NCT3Y13Y46 60,000.0 60,000.0
PP »03A046YCUC UBAUC 1. & 3V Na- »uaiA3T3Y
RCi=yisvas 90,790.0 90,790.0
PP T»03A046YCUG USFKG 0.@3ATAVCE TH»YTRaYST3Y
RCi=yisvas 23,330.0 23,330.0
Pb »03A0AYCUC USfuC u. 13T36C NCT3Y13Y46 35,000.0 35,000.0
PP Eaéas USA%C U.T3RCAC NGT3V13VasC ~ T23Ae3(3T3Y
RCUY=Yaha- 400 15,180.0 15,180.0
pb Taw3(uC U3AKC 0. ©013A1¢ NCT=3Y13Vasc
RCUY=Yaha- 400 50,000.0 50,000.0
2p4103YC TYY13W3Y »i3Yafa-ail 25,000.0 25,000.0
DD T3T408C USAKCU. _ CECe3YC NCT3Y13Y46 82,220.0 82,220.0
U3Y3igl3YC 3YT3Y aieaion3u3YaiAlsyY 34%-3(CY T»Ywhay 18,000.0 18,000.0
08 | 02 | o1 [01. ZR=T&BA3(CY Qul>TWY»AC NCUY3YaR4 - 40 562,370.0 - 562,370.0
3 Al
EYT4 284 3Yi3Y 3%-3(CY USYI3T3Y -AS13[3Y 175,000.0 175,000.0
P3(BEWSVE 3% 3(¢Y -A313[3Y 305,000.0 305,000.0
&laveig U3in3(CY -A313fA3Y* 40,000.0 40,000.0
M»03A0AVCIC USHkG 3136 13030C aieaioad3T3Y
DY TRAYC U0USICY - 21371 15,0000 15,000.0
élasycuc Usiug ailic -A=313/3Y¢ NCUY=3Yana- ail 2,370.0 2,370.0
. GiCe3YC uS03u3(eY -As13A3Y 25,000.0 25,000.0
08 | 02 | 02 |01. FR=TABAZICY Qui» T Y»iC NCUY=YARA- 46U 98,887.0 98,887.0
3 Al
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYYa3I|3Y . IBE3. I3y T3
1527895 ©1 T2123200°84 JEYsvestsy A SR R L bl e
s | 2 2071 202600°3A TIGTY>AC - 141 PrYIbfG ROYABAIABYYoAC arsr=y, 2 T&a¢ TSt
"a’: N 9 I1SEé»i¢ BCYéﬁAUé.ﬁYY")A)ﬁC, T2acT=t - »E1»%C3- ’ e
= | AVaf=vasfi T=3736A | BCY=f=masAlasy oRSVARA- 450 UBAT%3 -AST3Y
! SREST3YUY»i
1 2 3 4 5 6 7 8 9
0. T301T=204AC GAp»EC »0p3IAY»AC A3Y - 3A3Y 37,140.0 37,140.0
U, 2pail3v¢ p3( ~ eane Aabaiainiy»ic p3i»T30aiAl=Y
A=y 2=y 27,367.0 27,367.0
a3Mi»Y6C 3YT3Y -A3T. ~ SAM»EWC ASY - SASYC USaV=3x(4i0"
U. ZRrSASTC &. A6aRISYC TaiY A3Y - 3A3Y 34,380.0 34,380.0
08 | 02 | 02 [02. a»W3T3Y 2¢3T645A140Y A3Y - SASBYY»ACY 728.9 728.9
08 | 02 | 03 [01. ZR=TasA=(CY QuixTY»AC NCUY=Yan4 -4l 474,387.7 474,387.7
31 ATa0
Tar3(0C U3k 164,967.7 164,967.7
-. Uan eanyT3(¢ UR=T4AC =Y NCUY3Yana- ail 44,967.7 44,967.7
- 3A2030uC UR3T4i0AC =Y NGUY3Yana- 46U 25,000.0 25,000.0
-. 2fi-»C UR3TaAC w3y NCUY3Yania- 4l 25,000.0 25,000.0
Tar300C U3finC 26aRi3Y -(ai0C UR3TailAC w3Y Yana- ail 70,000.0 70,000.0
2i3p37( U3k 50,000.0 50,000.0
-. 2IB3AC UR=T400AC TasY 25,000.0 25,000.0
-. E4i6=2637C UR3TailAC rasy 25,000.0 25,000.0
2{i3.3[47YC U3k 60,000.0 60,000.0
0. 2A3A3YC UR2T4AC T=3Y NCUY3Vada-ail /YSEICY
RACEAT» G RyY U/ 25,000.0 25,000.0
2/43.314TYC USA%C 2= -3 1¢ URSTaAC T3Y
RCUY=Yana- 35,000.0 35,000.0
M»03A04YCUC Ui 40,000.0 40,000.0
-, E456=3T46YuG UR3T4SIAC Tasy 25,000.0 25,000.0
af. _ aif3AIBYC 3YT3Y UR=T4AC =Y NCUY3Yana- ail 15,000.0 15,000.0
E&éas U3k 54,000.0 54,000.0
-. TaA3YC UR=T40AC Tasy 25,000.0 25,000.0
-. E»éY3Rainc UR3TaslAC wasy 25,000.0 25,000.0
E&éad U3fikC 13A»A N3U3(YaC UR2TAAC T=3Y T3YCUC
of VAR 70" 4,000.0 4,000.0
T31408C Uik 42,000.0 42,000.0
-. PaTe»eC UR3TAMAC wasy 42,000.0 42,000.0
bCA=TC U=fi 12,000.0 12,000.0
PCASTCG U3hng @é=3éY30ulacn NSU30YuC ar3TalAC w3y
VYCUC RCUVSVARA- 400" 12,000.0 12,000.0
&lasvycuc U3k 51,420.0 51,420.0
&0a0veug U3iuC T2A3Y 0. 2. PCATSYAS1»( 3V, 51.420.0 51420.0

1303w CIST3Y A=TiaYe f»Yug NCUY=Yaria- 60
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYYa3ITIY . ISBE3. 13y T3
s | = T52T1a08E ©1 12720200008 B A e A A
y f 2113 2013600123 A ol " A A VAR ATARYY 1 2(F T3 e I
TIE|R Ui =02a000°8A [SE8iC ROYATRIABYY»AC BC\.:@’;U?:[Y:;’E“C B e ;‘f); g
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
08 | 02 | 03 |03.2R=T&BAS(CY Qui»TWY»AC RCY=A=n40A045Y 429,836.0 429,836.0 -
31 ATa0
2i3.3[47YC U3k 90,180.0 90,180.0
auy30¢ UR=TaslAC TasY 40,000.0 40,000.0
E»éY=2a3¢ N3U3(Yu300Y T»YwAaY 50,180.0 50,180.0
M»0=3A04YCUC Ui 76,940.0 76,940.0
T13+3A30C UR3TailAC wasy 11,940.0 11,940.0
-. ECxUC UR=T4dAC wasY 65,000.0 65,000.0
E&éas U3k 105,100.0 105,100.0
&T»-3Y3T3VC UR3TaAC 3637 35,000.0 35,000.0
13- 36C UR=T400AC TasY 70,100.0 70,100.0
&0a5YCuc Uit 107,616.0 107,616.0
0 -0450C URST rasy 107,616.0 107,616.0
¥ 2046 04fG Uit 25,000.0 25,000.0
203046 3TalpC M»A3T=646640U 25,000.0 25,000.0
Tar=30uc U=hy 25,000.0 25,000.0
Taw=(0C USiiuG v.ain -0a50C 62af e ™ UR=TailAG T3Y
T=6i6500 25,000.0 25,000.0
08 | 02 | 04 |01. ZRBTABAZICY QuirTWY»A¢ NCUYSYARA4- 40 32,469.0 32,469.0
31 ATa0 -
ofi 3¢ ~ 30A30I3Y 3 N=e6»460 - WY T40 B3[3e3Y¢
RAOYHC UCAIAISY BoYUC NCUYYVafia- 40U 32,469.0 32,469.0
08 | 02 | 05 |01. ZRBTABAZICY QuirTWY»A¢ NCUYSY4RA4- 40 100,000.0 100,000.0
31 ATa0
D. &3naY(3VYC 3YT=3Y A3TRAYC B»YUC Yafa- 40 50,000.0 50,000.0
©fi.C &»T3T3Y A3TRaY 50,000.0 50,000.0
09 | 06 | 01 |03. TAAZT=Y Gul»TwY»AC NCUY=Yan4- a0 10,111,500.2 - 10,111,500.2 -
31 Aiail
of"3Y 4,106,332.0 4,106,332.0
SENENN)
Of"3YC N 11 1&f46 55,000.0 55,000.0
Of"3YC N 26 1&f46 71,980.0 71,980.0
O "3YC N 198 1Afi46 114,830.0 114,830.0
Of "2Y¢ B. A&iUSYI=YC 3Yi3Y N 32 1&f40 98,160.0 98,160.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3 o
1527898 ©1 T212520U°8 yerstestIsy S poVusiic” |V TS
S| 2 201 202600°3A STUGIYHAC - 1ai PrYURfiG ROV ATAUABYY»fIC an=T=y, 2t TS &0t
"a’: =] 9 o F?Eé»’ﬁ(; y BC,YéﬁAUé.ﬁYY"i)ﬁC, T2acT=t . »él»%(;s_- N e
s | u AYIN3YAH 1S13tA |  RCYS3A=NaiAlasY I RSVARA- &0 B3 -iSI1S8Y
SRE3T3YuY»i
1 2 3 4 5 6 7 8 9

Of"3YCN 150 1&fad 68,640.0 68,640.0
Of"3YC UST4aRaiC 3Yi. N 131 1&R46 88,960.0 88,960.0
of"3Y¢ 0. 203(3Y¢ 3Yi3Y N 63 14ha6 126,400.0 126,400.0
Of"3YC N 98 1&fi46 23,020.0 23,020.0
Pb T UTAAAIBY 31%-3(CY CYETCas 91,942.0 91,942.0

Ofi"3YC AxU3YC 3YT3Y N 13 1&f46 132,150.0 132,150.0
O "3YC 2{3Y¢ AGT 180 1AMAGC NCUY3Y4fi4 - 4 17,890.0 17,890.0
O "3YC ACT 170 1&R46C NCUY3Yafia- 4l 84,700.0 84,700.0
O "3YC ACT 39 1Afi46C NCUY3Yara- ail 26,090.0 26,090.0

O "3YC ACT 17 1Af46 60,140.0 60,140.0
Oof 3y 3YC»E 1 BAaA3YC 3YT3Y ACT 1346
Nguys\?éﬁa.égf 1 3A4A=YC 3YT3Y ACT 89 TARAAC 83.230.0 83.230.0

Of3YC ACT 171 1&f46C NCUY3YaRa- 4l 119,980.0 119,980.0
O "3YC ACT 87 1Af46C NCUY3Yara- ail 33,820.0 33,820.0
O "3YC ACT 78 1Af46C NCUY3Yara- ail 38,470.0 38,470.0
O "3YC ACT 195 1&Ra6C NCUY3Yafia- 4l 29,510.0 29,510.0
O "3YC ACT 45UCcY. 1Afi&6 30,840.0 30,840.0

O "3YC ACT 43 UGgY. 1&fad0 17,830.0 17,830.0
Of"3YC ACT 52 UCgY. 1Af46 8,420.0 8,420.0
Of"3YC ACT 177 UGgY. 1Afi&6 202,920.0 202,920.0
O "3YC ACT 38 UCY. 184 113,250.0 113,250.0

O "3YC @3(3Taiela 3Yi3Y AGT 7 1ana6 9,270.0 9,270.0

of3Y¢ &. b3Naili=YC 3YT3Y ACT 1 1446 33,810.0 33,810.0
°f " 3YC @3E3A¢3(¢ ACT 181 1AMa6 130,000.0 130,000.0
Of"3YC ACT 93 1&fia6C NCUY3YaRa- 4l 70,000.0 70,000.0

O "3YC ACT 1551 &fa6 130,000.0 130,000.0

Of "3YC ACT 174 1&R46 160,000.0 160,000.0

Of 3¢ ACT 189 1&f46 80,000.0 80,000.0
Of "3YC ACT 121 1&R46C NCUY3Yafia- 4l 75,000.0 75,000.0
O "3YC ACT 185UCcY. 1Af46 80,000.0 80,000.0

Of3YC ACT 99 UCGY. 1&R46 97,700.0 97,700.0
O "3YC a3fi»Y6C 3Yi3Y ACT 67 1AM46 65,000.0 65,000.0

N 192 1A746C I»f=Yaf4- 46U 65,000.0 65,000.0
GA3VI3A(3YC 3YT3V N 24 14f40 48,000.0 48,000.0

P»Y-31CAC N 79 1Afi46 51,366.0 51,366.0
O "3YC ACT 84 1A1i46C 52,080.0 52,080.0
O "3YC ACT 130 1ARA6C 60,000.0 60,000.0
Of"3YC ACT 196 1ARA6C 55,000.0 55,000.0
Of"3YC A»T3T3Y WrEVAA-C3T3Y ldbrg 55,000.0 55,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3 o
= . A yCY3Ye3T3yY TN e USE=3-ISN»T3%
152118°8£ <1 T2125a0U°84 Ty e e P»YU»fi¢ PR ’
5| 2 201 202600°8A SICIYHfAC - Ta PrYAG RCYATRIAIYAC ar=1=. 2t {s&q TSt
"6‘ =i ] I1SEé»iC RCYABAUATYY»TiC T2acT=t . »é.l»%Cs-_ o I3Ee»ii
)| 4| - Avafi=Vain [=1=th | pov=f=nadlaey | X [USAI4R-ARTRY
SRE3T3YuY»i
1 2 3 4 5 6 7 8 9

Of"BYG @. Tah-»8l3Y¢ 3Vi3Y ACi 158 1&A40 60,000.0 60,000.0
8§01 3YC N»Y3R3AASICY N3U3T30-¢ E3ETAUY»A 4iY»040 50,000.0 50,000.0
»ix E3Y»AC ACT 17 N3wail 1anas! aa=T
Of"3YC ACT 62 1446 50,000.0 50,000.0
Of"3YC ACT 117 1&RA6C 70,000.0 70,000.0
Of"3YC ACT 129 1&RA6C 70,000.0 70,000.0
O "3YC ACT 100 1&RA6C 35,000.0 35,000.0
O "3YC ACT 108 1&R46-- NCUY3Yafia- ail 92,000.0 92,000.0
O "3YC ACT 69 1446 80,000.0 80,000.0
O "3YC ACT 115 1&R46 120,000.0 120,000.0
Of"3YC U3h-_ 46C 3YT3Y ACT 14 1AR46C - 3%3yCT3640U 60,000.0 60,000.0
°f"=Y¢ AGT 160 1&fia6 60,000.0 60,000.0
Of =Y £6=T141C VT3V N 132 1&7146( YaRia- 450 50,000.0 50,000.0
eaie-N30T3T3Y ei37aY313Y I3U3te3h3Y /NCUY3Yaria- ail/ 200,000.0 200,000.0
Uad-Uant NBUSIYUC ACT 186 TARA0C UYL T2 1 N»Y3&37¢
T2 V450" 1,500.0 1,500.0
Of"3YC ACT 167 UCCY=T3A - 1AM46C 6RARTI3NECXC 30.000.0 30.000.0
»A3Yana- 4l ,UU0U. ,000.
a3(TaieTa 3YT3Y UCgY. 1AM46 22,434.0 22,434.0

2i=3-3[4WYC U3iip 882,010.0 882,010.0
3(1 Afail
2/3.3T4TYC UBAKC -. ~ 33U30pl4sAc UCeY. 1afad 56,250.0 56,250.0
2/3. 3T4TYC UBAKC -. T3AUCC UCGY. 1afad 77,950.0 77,950.0
2/3. 3TATYC USBAKC -. AsT» T3¢ 14746 44,430.0 44,430.0
2{i3. 3[ATYC USAUG - 213V UCeY. 1Afa0 40,090.0 40,090.0
2{3. 3[4TYC UBAUG -. @36 T3i3(C UCcY. 1AMa6C
RCUY=Yaha- 4 120,000.0 120,000.0
2/3. 3T4TYC UBANC -. ~(4A3T3YC UCGY. 1AM4a6 130,000.0 130,000.0
2(i3. 3[ATYC UBAUC TAR -14i0C 1ARA6C T»A=YaR4- 46l 120,000.0 120,000.0
2/3. 3T4TYC USAKC aikC -1ai0C 1AR46C I»i3Yafia-ail 91,310.0 91,310.0
2(i3. 3[4TYC UBhug Eaie= - 430 -(460C 1ARAGC
RSV ARA - 450 81,980.0 81,980.0
23 .3TATYC USAUG , 2A3A3YC N 2 1&A4a6C NCUY3Yadia- ail 40,000.0 40,000.0
23 .374wVC U3iue 130T3Raicw¢ 1anasc NGUY3Yana- ail 30,000.0 30,000.0
2/3. 3T4TVC UBAKC 2ABE»1C 1ARA6C NCUYSYaf4 - a0 50,000.0 50,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
15291895k ©1 T212520U°8k YOEYSTESISY | e boYusiig™ U B 1N
S 201202600°8A SIWCIAC -1ar | PHyibfe RoVatAlaOYoRG | At 1T, 2{t 12407t
°(7f 3 9 ISEé»iC RCYAIAUATYY»fiC T=acTt - »AI»HC3- I3Ee»ii
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
2A3A3TC U3k 1,165,230.0 1,165,230.0

SENEN)
2A3A37C USUC -. a8W3YC UCcY. Tanad 70,620.0 70,620.0
2A3A37C USAUC 0. 2AT3R3TC ACT 2 1&RA46 116,920.0 116,920.0
2337 USAUC 0. 2AT3R3TC ACT 5 1Af46 60,220.0 60,220.0
2ABAZ TG USHAKG 0. 2ABASTC (A & 31C) ACT 2 144 4,320.0 4,320.0
2ABAZ TG USHKG -.  3E3AC 1Afia6 44,800.0 44,800.0
2ABFA3TC UBAKC -. O4T36313Y¢ 1AM46 82,140.0 82,140.0
2/A3F3WC USAKC -, CUCTRATC 1&fad 46,330.0 46,330.0
2A3A3 TG U3hKG - URST3Y( 1816 12,290.0 12,290.0
2A3A37C USAUC - 2ABUEST3YC 1ah40 12,830.0 12,830.0
2337 U3KG -.Uan T03Y0¢ 1anasc AGUY3Yana- ail 115,970.0 115,970.0
2ABA3 TG UShKG -.20-3T3Y¢ 18740 95,000.0 95,000.0
2A3A37C USAUC 0. 2ABASTC ASA-U3Y436 13AA3A3Y 16,790.0 16,790.0
ZABAZ TG USHAKG -. 2AUSRC 1A7HA0 57,000.0 57,000.0
2ABAS TG USHAKG -. T 3AL3R»YC 1Ah40 80,000.0 80,000.0
2A3A3TC UShnG 2183 N3030VUC 1&R46C Y»AUCY
e e 60,000.0 60,0000
2ABA3TC UShAKG TS-»A313Y N30U3(V0C ACT 2 1Afia6C
CoRaVATE 4l 50,000.0 50,000.0
2A3A3TC UShnG a8T» 13+ N3U3(YUG ACT 2 TAfa6C 16Y»AC
83 TANVY»iC +aE4l 10,000.0 10,0000
23371 U3hng b3Nasli3Y -(ai0¢ 2AT=T
DAUSORUIZTG 2Yi=Y UGeY=1=1- 1&id6 110,000.0 110,000.0
2A3A3TC UShKG @36Ce 13030C @.030Ta6C 3VisY ACT 1
UCCY=T=h. 1ARAOC USSRk 15,000.0 15,000.0
2a3A37C U3fiuC @36Ce 030=0C ACT 5 UCGY3T=3i- 1&nad 30,000.0 30,000.0
2/3A3TC UBAUC @2AUSA3R»YC UCYST3M- 1&f40 20,000.0 20,000.0
2/A3A3TC USAKC T»03VCewC UCCY3T3i- 1440A 30,000.0 30,000.0
2A3[3TC U3iUe Uan=p36C¢ UCcY3T3d- 1aMa0 25,000.0 25,000.0

M»03Al&6YCUC Uit 1,459,400.0 1,459,400.0
SEFYEN)
M»03A0AVCUC UBAkG -. UaR=3Tane¢ N 1 1aRacc
RCUV=VaRA- 410 126,600.0 126,600.0
M»03A0AYCUC USAKG -. 83AAE3YC N 2 1ARacC
NCUY=Yania- ail 24,400.0 24,400.0
M»03A046YCUC UBA%C -. 2TaVug UGeY. 1afias 146,430.0 146,430.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
- - . yCY3Y&=T3Y e e U3ES- 1313y
15291395k ©1 T2125a00°64 yerstestIsy e e P»YU»fiG oy
5| 2 2073 202600°3A STHCIY>AC - Tai YA ROYABAIABYYoAC ar=1=. 2 T&a¢ TSt
‘}7,( =] 9 I1SEé»AiC RCYABAUATYY»TiC T2acT=t - »AI»HC3- ) I3Ee»ii
= | AVifisyasi 1=73tA | ROY=3A3AasAlacY oRSVARA- 450 UBAT%3 - AST3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9

M»0310asYCUC USAnC -. T»0=Naicre N 1 1&hacc
RCUY=YaRa- 400 58,620.0 58,620.0
»0=f0AiVCUC USFLC -. T»0=U=3T=YC UCcY 1afiace
RCOV=Yaha- 400 140,060.0 140,060.0
M»03A0AYCUC USBAKG - . %aEBU3AC N 1 UCgY. TARAGC
RCOV=Yaha- 400 169,570.0 169,570.0
M»03A0&YCUC USBAKG - . OaR= - 1450C ACT 1 UCgY 1&fa6 32,720.0 32,720.0
M»03AAYCUC USBAKC U. T3T36C ACT 5 1&fas 60,000.0 60,000.0
M»03A0AYCUC UBAKC -. EGxUC UCGY. 1AM46 80,000.0 80,000.0
M»O3A0AYCUC -. _ USR»YC UCcY2T3fi- 14740 50,000.0 50,000.0
M»03A0&6YCUC USA%C F3ATaiva N 1 1Afa6 60,000.0 60,000.0
M»03A0&YCUC -. CA=YaeC ACT 1 1&fasC NGUY=Yana-ail 60,000.0 60,000.0
M»03A0&YCuC -. 26w0304iC 1&fa0C NCUY3Yania- ail 45,000.0 45,000.0
M»030&YCUC -. Eaie=TaoYu UGeY 1&fadC NCUY3Yaria-ail 58,000.0 58,000.0
-. TATGY3fC UCY. 1Ana6 55,000.0 55,000.0
- 2ATT3YCEwC UCeY 1Afi&0 55,000.0 55,000.0
M»03A0AYCUC USAnG 0an= - 1450 NSUS(YUC ACT 2 1&746C
oV ARA - A0 70,000.0 70,000.0
M»03A0AYCUC USAKC T 3A1»YCEC T3ASI3Rc3YC 84Al
RBUSIVIC UCcyST=A- 1aR46 60,000.0 60,000.0
T 3f1»YCeC ACT 2 UCY3T3h- 1&R46 58,000.0 58,000.0
M2736C »ABARTST3Y 4ieailY=3Aa=YC NCUY3Yana - 4iU 50,000.0 50,000.0

E4é40 U=t 505,070.0 505,070.0
3(1 Afal
Eaéad U3fiuC -. bYaOC UCcY.1Af&60 8,950.0 8,950.0
E4éad USAuC 0. 8»+3Y3T3YC ACT 3 1&R46 39,130.0 39,130.0
E4éad USAKC U. 1 3Y304AC ACT 28 UCcY 1&M46C
RCUV=Yaha- 40 18,660.0 18,660.0
U, 8 T»+3Y3{3YC ACT 5 1Afa0 40,660.0 40,660.0
Eaéal UG U. 2E31»ita) SA»e 13- anl313Y aisaily3T3Y
A22T 50,000.0 50,000.0
Eaéai USfiuC T 3Y304RC ACT 24 1AM46 57,670.0 57,670.0
0. T 3Y304A¢ A&k /o 90,000.0 90,000.0
Eaéad USHuG @» 1313V N30U30YaG ACT 1 TARA6C
RCUY=Yana- 4L 50,000.0 50,000.0
Eaéan U3iug 2i11¢ N=3U3Yug 1anasc ACUY3Yana- ail" 35,000.0 35,000.0
Eaéa U3iiug aséas N=U30VUC 1&Aa6C NCUY3Yaria- ail 55,000.0 55,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
| 152118°6£ ©1 T2125200°05k 31'?2 T\Y(Eﬁ CI it;\ c A poYimig™ |V i.3'I3N¢ =
, 21T 20 1AAGL 103 A o .. b ’ — A Y, Al \/\/ 1 2"’"3 --3'
u;(,. ?‘, ; U120a600°8A ISEé»iC RCYaBAIABYY»fiC BCYIé:'ZL\éU?IY_Y;EﬁC -»aI»%C3- UEiI3 ;?):—1 :
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
Eaéad U3fiuC anciatyal» N=U30Va¢ 1&rasc NCUY3Yana- iU 60,000.0 60,000.0
bCAZTC Ui 138,836.2 138,836.2
3(1 Afal
PCA3TC UBhKC -. ~31i3C 1afasc NCUY=Yana- ail 7,170.0 7,170.0
PCA3TC USfiuC -. @2ABECIC ACT 2 1Af40 50,000.0 50,000.0
PCA3TC UK 0. ZAACTC ACT 6 1afaoC NCUY=Yana- ail 50,000.0 50,000.0
PCASTC USfikG “O=3fiCuc=YI=YE UGeY=T3i- 1afia0” aa=T-C
U3A%36A3NC, USAL36ASNC SYCUC T»ASYARA-USY ™ Y»AugY 8,385.2 8,385.2
N=A13AU3Y SRE3TIVUY»f
891040040 ACT 6-fit UGGY=T3A- 1Af40) &aZT - C YCET»AC
13ECxC THASVAA-USY 3,281.0 3,281.0
PCA=TC USfikG @=A3CT u=0=30C ACT 1 *&fiaoC 2-iit
U6y 2pYuC RCUY=VaRa- &L 20,000.0 20,000.0
T3146RC U= 352,780.0 352,780.0
3(1 Af4o0°
T=140C UBAKG -. TAAGC 1ARAa6 134,720.0 134,720.0
T37400C USAKC 0. CECe3YC 2Y3Y(3YC 3YT3Y 14740 68,060.0 68,060.0
U. £¢"3YC N 1 1AM46 40,000.0 40,000.0
-. 253¢AC 14h46 60,000.0 60,000.0
- 20-»R&aT0¢ T3AAST3Y 18/46 50,000.0 50,000.0
alasycuc U3k 120,320.0 120,320.0
31 Af4o0°
@lavgug USfng -. Ean 1&Rao 95,320.0 95,320.0
U. T3A3YC bD 1122 ;[ Tata- 3Yaaey»A3(CY
N» 1 3%aTaAIAY Y»AC T»Y I RAYC U»r3tai - C30¢ 25,000.0 25,000.0
£3pan3TaRac3IC R»YiC NGUY3Yaria- 43U
¥ 3046 04AC U3 60,000.0 60,000.0
13046 O4AC UG -. OF+CYC TaRa0 60,000.0 60,000.0
Tar3)u¢ U3hy 704,562.0 704,562.0
3(1 Af4o0°
Taw=3(0¢ USinG 0. 20T=n1¢ ACT 3 T&f4o 174,310.0 174,310.0
Tar3(0C U3 -. g=3e3EC ACT 11AM4a0 33,982.0 33,982.0
Tawr=3(0C USA%G 0.2013/1¢ AGT 2 14had 60,070.0 60,070.0
Taw=300C U3fng U. ©0T3/1C AGT 1 2&R46 77,000.0 77,000.0
214103YC TRASN3USECAC 4i4UY3T3Y U36Y3/»YUC
RCUY=Yaha- 400 4,200.0 4,200.0
2Pail3Y¢ ACT 1 UGGY3T3h- 146G NCUY=Yana- ail 30,000.0 30,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
. T1329/8°3£ ©1 T2125a00°84 31'?2 T\Y(Eﬁ CI it;\ ‘ bV fiC - P»YU»fiC ** v il3'|:_',"¢ =
o | 2J120a60U°3A i . s VAGAIAGYY ! 20 T3ACT3E
AR 120200 ISEémic ROV ABAUABYY»fiC BC\.:@’;U?:[Y:;’E“C B UEi'3 ;‘f); g
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
2ail3YC ACT 2 UCCY3T3d- 1&nasC NCUY3Yana-ail 30,000.0 30,000.0
2ail3Y¢ ACT 4 UCCY3T3d- 146G ACUY3Yana- ail 14,000.0 14,000.0
2ail3Y¢ ACT 5 UCCY3T3d- 146G ACUY3Yana- ail 14,000.0 14,000.0
2ail3Y¢ ACT 6 UCCY3T3d- 146G ACUY3Yana- ail 10,000.0 10,000.0
2p410=Y¢ ACT 8 UCGY3T=i- 1ARAGC NCUYSYaR4- 4l
Je6a56U=Y REUT3- ¢~ U= 1=ECKG / 5,000.0 5.000.0
Tar30UC U3hkC 0AR30UI46AC UCCY3T3h- 1ARA0C
RCOv=Vana- 4l 30,000.0 30,000.0
Tar30UC U3hAKC AW0YC -0450C UCCY=T3h- 1AR46C
RCOv=Vana- 4l 30,000.0 30,000.0
Taw3(uC USfiuC 26CYcC 1afad 30,000.0 30,000.0
Tar30UC U3hAnC @31STATE1C -1410C 1ARAAC ¢réaioU3Y
(2U=T=4. 5,000.0 5,000.0
2UAT03Y 0. UT314f A3 - 3631 »i»E3Y»AC ACT 1 TARA0C
EISE goeanoUSY SUSTSA-C 10524l 15,0000 15,000.0
Tar30uC U3hnC UadéYase -0ai0C UCCY=T3A- 1A7a6C
RCOv=Vana- 4l 15,000.0 15,000.0
Tar=30uC USAKC efi3p»i N2U20YaC UCcY2T30- 1ARA0C
RCOv=Vana- a1l 20,000.0 20,000.0
TAT30UC USAKC 2A%YC NSUS(YUC UCCYST3A- 1A146C R»YUC
ioAVARA. 400 20,000.0 20,000.0
Taw3(uC USfuC D31Ge -460C UCCY3T=- 1AR46C
8AARTI3NECXC, A3 TANBYY»AC ~ N3T3TC I»A3Vana- 4l 12,000.0 12,000.0
Tar3(UC @3uC DASKL3Y 03030C &»T3T3Y gébcC
UGGYOUTHAC, A TANSIYAC * ESRRVYoC Toi=Vana- &1 50,000.0 50,000.0
-. O0T3f1C 3AT»e W 1ARA6C NCUY3Y4RA - 46U 25,000.0 25,000.0
2A0=1CAC Uhk 516,960.0 516,960.0
=t Afa)
2A03TCAC USBAKC -. 2Up»fitC 18fa0 11,550.0 11,550.0
2A0BTCAC USHiUG -. E»Vaidas 1afao 129,620.0 129,620.0
2A0=31CAC USHKG -. 203 TY3T3Y 14ia0 60,000.0 60,000.0
2AUBTCAC USAKC 0. 2AUSTCAC ~SERIBYC 3YT3Y 1AM46 24,710.0 24,710.0
2/UBTCAC -. 2TY3ECxC 1&f40 57,680.0 57,680.0
2AUBTCAC . 2AUBTCAC SAT»6WC 1AM40 50,000.0 50,000.0
-. 2AUSTCAG 1AMa6 80,400.0 80,400.0
2AUBTCAC USAKC B30T3R»Y NBUSYUC UCCY3T3A - 141460 50,000.0 50,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
15291895k ©1 T212520U°8k yEYSYEsIsY e boYusiig™ U B 1N
e 201 202600°8A =TCIAC - Tai P> ROYABAIAIY»f an=1=v, 2 To&CTSE
TR0 I3Eé»AC RCYABAIASYY»AC ¢ T=acyst ¢ - »41»%C3- = Ee(f)r:
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i

1 2 3 4 5 6 7 8 9

13033437 U3030C E. 2pail3Ye 3Yi3Y AGT 4

UCeYSTSA- 14746 30,000.0 30,000.0

2A03TCAC USAKG @» 1304 u=030C 2AT»& G 1ARace

VSVCUC ToRSVARA- 40" 23,000.0 23,000.0

&3T3EUC Y»AUCY LAAAGY»AC T»ASYARE - 400° 100,000.0 100,000.0

36. EGYeC NCUY=1i=0C § . Ana6=RCYAsAIAY! TA=- A4T
09 | 06 | 01 [=é=c¢=6=1yCY=Y&=T=Y UCca6Y»AC A=T=845M1A 967,543.8 967,543.8

+4ENSTAI6HE4D YRS TSTAT
09 | 06 | 01 [08. TRAST=Y QuixTWY»AC BCYSASAAGAI4GY. 1,820,055.0 1,820,055.0

= Afail

OF BVG 1. A»TasIZVC 3Yi=Y UGeY.1AR46 50,000.0 50,000.0

Of"3YG ACT 200 1AMAGC TCE3T3AT U3eY3R»YUC

13fiiCx3ICY USeC BOYR=RAIAISY 2 i3 80,000.0 80,000.0

2A03TCAC USAKG -. UARST3YC TAfia6 300 3B, W»0al

VaR=T2ea006 143,305.0 143,305.0

2A03TCAC USAKG -. 130C UGGY.1ARAGC YaR UBeY3-R»Yig

T=6856550 55,000.0 55,000.0

2A03CAC USAKG 2A=- =1 N303(VaC 10363T364il0

UV T2 &3 ROV hatAlarY 35,0000 35,0000

2A3A3TC UShAKG ¥%3Y - ST3T3Y UGY. 1aRaC 1 3A13R3TC

I=ev=xiat 58,990.0 58,990.0

2A3[STC USHUC -. DYS»iitC 1Aia6 250 =R, T»04f 63,050.0 63,050.0

@i - BYAIRC 1Afi&0 450 1»0 120,000.0 120,000.0

2A3A3TC USAKG 0. 2ASASTC aTu ~3YS13Y¢ 14fia6 90,900.0 90,900.0

Eaéad USHuG -. PCA3T3040mC 1afaog U3in313ECxC

T=6856i0 35,390.0 35,390.0

E4é4d USAuC -. E»6Y3Y6UC 1&RA6 200 36, T»0ai 30,250.0 30,250.0

Eaéad USuC 0. T3RCAC ACT 4 1874 65,670.0 65,670.0

E4éad USHuG U. T 3Y304AC O 3YI3Y Exai0as ~ EYOaRas

A=0=3036C 2-i1 +a046¢ N3TU3Y eTyuy30=6450 ACT 18 102,380.0 102,380.0

1ARA6C YSETCY T»04iU USA313RECxC T=¢46640U

Tar=3(0C USAkC 0.DASKI3YC ACT 5 1Afa0 65,000.0 65,000.0

Taw3(uC USAyC -. UaR 11»0¢ ~ 3Y313YC 1ARA6C

RQUY=V4na- 400 -~ TCe=T=6a0l6C = i=rradl 52,620.0 52,620.0

Taw=3(0¢ USAiuG 0132 13030C USin=1aR46C 13646450 110,000.0 110,000.0

PCA3TC U3A%G u. l46Uf&0 AGT 1 1&RA6C U=A%313NECxC 63.280.0 63.280.0

136406400
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . JBE3-I3»T3
o | 2 1521808k ©1 T=1=0200°5% B A o T e B
=;<’ 20 =UT=Ua00U=8A i3EaxiC RCYABALABYY»AC Bc;@;t\éuaf_sgzﬁc  ELYCS- UET':_, é‘ei; g
C AvaRvan F=r=th | oovsnsnaklay | LZSEV | isiins-AsTSY
SRE3T3YuY»i

1 2 3 4 5 6 7 8 9

PCA3TC USA%G . T0AUAC T. &3 - &l3Y¢ +. 32 (367G °

P3(3EW3YC A»T3T3Y TYT»E3-Cw3T3Y CYewCraim

SR A S 150,000.0 150,000.0

AST3¢406400

T37400C USAKC 0. CECe3YC ACT 4 1ARAGC UB&Y3R»Yi 65,000.0 65,000.0

&lasyouc U3iing ©0» -G 1&fas6 100 3. 104 70,000.0 70,000.0

&layoue USfnG -. 2A=T4a0eC 1&Ma6¢ T3646645U 92,030.0 92,030.0

&laiyouc U3iiug -. EaxY3T3AC 1&fa0 37,190.0 37,190.0

M»03A046YCUC UBAKG - T 3030»YC 1ARA0 YaR=3T364000 125,000.0 125,000.0

23 . S[ATYG USHKG - E»6VSASAC YA 1&fi46 60,000.0 60,000.0
09 | 06 [ 01 [10.21=- 147/46Y»AC NCUY3YAA4- 430 1,940,000.0 1,940,000.0

3 ATl

0. Of3Y 230,000.0 230,000.0

©f"3YC ACT 198 *&ia6 70,000.0 70,000.0

©f"3YC ACT 112 1446 100,000.0 100,000.0

2Al>6 13- an1313Y 18na0 60,000.0 60,000.0

PP ZA=-STAWVC U31% 190,000.0 190,000.0

U. 2R 3ASTC ACT 5 1&ia6 50,000.0 50,000.0

ASICYG ACT 1 1446 70,000.0 70,000.0

240a=1C *anas 70,000.0 70,000.0

DD 2A3A=C UShY 140,000.0 140,000.0

84ifi»Y=213YC 14Ma0 70,000.0 70,000.0

@=eCeC ACT 51anas 70,000.0 70,000.0

DD 2AUSTCAC Uik 120,000.0 120,000.0

2AUSTCAC ACT 1 1&Ras 70,000.0 70,000.0

DaiE3E»eC 1. 1 »Ay»iC 3Y1. Tafiao 50,000.0 50,000.0

PP »0=A0AYCUC Uit 210,000.0 210,000.0

I=136C ACT 3 14fia0 70,000.0 70,000.0

& "3YCACT 714fia6 70,000.0 70,000.0

T3ALYCICACT 2 1&ia6 70,000.0 70,000.0

DD Taw=(ug USfit 140,000.0 140,000.0

PAS%I3YC ACT 13 14fia6 70,000.0 70,000.0

I36YCC AGT 2 2&Ras 70,000.0 70,000.0

DD E&¢ad U=t 90,000.0 90,000.0

13Y30aC ACT 5 *&nas 20,000.0 20,000.0

T45-3A0C ACT 12&Ma6 70,000.0 70,000.0

DD bCA=1C U 370,000.0 370,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
vCY3Ya3T3Y ; JBE3-I3»T3
15291895k ©1 T212520U°8k yEYSYEsIsY e boYusiig™ U B 1N
5| 2 201 202600°8A =TCIAC - Tai YU AG ROYATRIASYY»AC an=1=y, 2 TS&CTSE
TR0 I3Eé»AC RCYABAIASYY»AC T=acyst - »41»%C3- (8o
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= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
D33 w3Y¢ e3NU3YC RCY3A=nasAlasY 674,000.0 674,000.0
§” 46A1=04M" e3NU3Y=2A3N 460» 13HC RCY3hA3RasAlasy 60,000.0 60,000.0
§2EU4R=C! 63NU3Y343N 4i0»T3EC RCY3ASasAI&Y 60,000.0 60,000.0
§CECK3(C! 63NU3Y3&3N ai0» I3EC RCY3A=asAIa0Y 253,000.0 253,000.0
§&63/F38» WG} 63NU3Y3&3N 4i0»T3EC RCY3AShasAl&sY 253,000.0 253,000.0
PCAZTC USAL3ICY T3MaaiAI3Y @3A3CIC p=AYC
USY3R»YUC - 3%3yCT3640 2,000.0 2,000.0
PCAZTC USAR3ICY T3Aaa0AIBY ZAACTC pSAYC USeY3R»Yug
- SyyCT=364i) 30,000.0 30,000.0
PCAZTC USAL3ICY T3MaaiAI3Y ZEARIBYC p3AYC
US8Y3R»YUC - 3%3yCT36400 5,000.0 5,000.0
AARTCYAIC N 5060 #af=U36C T»A=Yafa- ail 159,000.0 159,000.0
0ai3&(=YC N 5090 #af3U36C I»A=Yaf4 - 40U 135,141.7 135,141.7
@36CEC N 5073 %aR3U36C T»A3YaRa- 4l 25,000.0 25,000.0
DARS1CHC N 5070 %aR3U36C T»A3Yana-ail 140,000.0 140,000.0
&latycug USi=3ICY 1=idatAl=3Y UBEY30»YUC T»i3Yaia- ail 64,400.0 64,400.0
DD T363T3R4AISYY 3EAVA»A 34%-3(CY 3YTT3Y - aAI3Y
T=6U4AISY T2E=T=Y BaYUC PHi=VARA- 400 92,900.0 92,900.0
§_ ! T3A440AIBY B»YUC (TS - I»AC VaY r=3A4iU 3,000.0 3,000.0
03 | 01 [ 02 |02.8»T31=3Y &=3a=3V4Al=Y 3&3Narail 76,318.2 76,318.2
Bb &=2pTa=20asAu=20 U=E=25=25246AUa6U 31,049,902.1 548,823.7 3,883,808.0 222,870.0 26,394,400.4
3(1 Afail
02 | 01 [ 01 |02. &3%0U=T3Y ISACUY»AG u=T3A=A400 28,049,902.1 548,823.7 3,883,808.0 222,870.0 23,394,400.4
02. %ANT3T (U3N=2631) ~ 363¢CY, »ATRAAL — »fifiaft
T3fi- ¢ N=00=3Y230 %Y T=2630a0Y»AC 3Y0A3Y
10 | 06 | 01 ATE2VCUYSACY I ST2ASVAT 2A3NAT0=Y - 3,000,000.0 3,000,000.0
HYST3A3Y3(CY A3U3YY»AC p3int21U3Y N=037
20E g=23@£0U°8 100,588.0 100,470.0 - - 118.0
01. T&AT31CA GRE3YAIAIBY, &»W3T3Y
01 | 03 [ 03 |T=é=21=3Al=3Y(=3YA3T3T3Y " V3a=1u=3gY 118.0 118.0
T26=313A0=3Y U=3A0CYY»AC &=N&=3Y4i0
04 | 09 | 01 |05.=[ I#=-f»A 100,470.0 100,470.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
|4 15298°8£ ©1 T2123a0U°84 33;% T\Y(:ﬁ CI i; ‘ BoYinfiG ™ P»YU»fiG ™ U il:;l:;";’ =
) 2(J120a68U°5A LIY>NG - PxYU», v 45R0AGYY : 2t [380T 3t
AR 120200 ISEémic ROV ABAUABYY»fiC BC@’;U?:[Y:;’E“C B UEi'3 ;‘f}r‘] g
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
pb T2&2123a6AU200 28AUASS p25T1T2U£0
5OT2120 1262085 AUac0 200,000.0 - 200,000.0 - -
S0 Aral
0L | 01 | 02 [08. =R&=T=Y Oplw T'1Y»AC NGUVSYaRA- AU 200,000.0 200,000.0
p=2U=2&7=20U4 b2Us=2UF0
podaseT=e= _£AAUTO3A0AU=U EABDA0S 288,392.7 - - - 288,392.7
31 ATl
02. Dr&4t T3R=0411400Y»AC &S TH=EWUSY
N»623f03TU3Y YA3T3T4T &»3T3Y 3¢31640A040Y
08 | 03 | 01 |spaimen=vg RaVASIGY fir6ate AV I»RAALATY! 218,392.7 218,392.7
6" AGY
03. @=104N=04A140Y»AC A3 TAZETU3Y ™
N»623f03TU3Y YA3T3T4T &»3T3Y 3¢31640A040Y
08 | 03 | 01 |spaimen=vg i=Vasicy 631CaAVInRAIAIA &7 A- 10,0000 10,000.0
Gy
052120k #20262a°1T25620 632,030.7 29,000.0 269,941.0 - 333,089.7
31 ATaole
09 06 01 (03. TAASTSY QuisTwY»iG NGUY=YAR4 - 450 269,941.0 - 269,941.0 - -
3 Afail
Of"3YC N 75 1&f46 89,470.0 89,470.0
Of"3YC N 97 1&fia0 48,400.0 48,400.0
Of"3YC N 110 1&fi&6 69,796.0 69,796.0
O "3YC N 161 2&RA0C TriSYaRa-USY SRESTSVa»i 62,275.0 62,275.0
09 | 06 | 01 |08. THAST3Y opl>TuV»AC RGYSASHABAIADY. 29,000.0 29,000.0 - - -
3 Afasl”
Of"3YC N 161 1Af40C ¢»¢466U3Y N3U3T3f-C
T3USTHRAUSY SBESTSVaY»i 29,000.0 29,000.0
32. 12-3((= TrA4IAI=Y 3Y6U=3Y T2&=31645A1=0u 6
09 06 01 |W3i»13Y »A»E3Y»AC 46841603Y T340 T»AA0U3Y 333,089.7 333,089.7
N=20=f SYNA2 A0 - 4500G O»étu»Rail
PP 252921 ATUA 328%4°712520 417,543.2 - 344,317.9 - 73,225.3
3 Afasl”
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
. 15291593k ©1 T2125200°3% 31'?2 T\Y(Eﬁcl- ign’ A povinic Y il:_:lz_';‘;’ o |
o | 2 201202600°3A e s RCY&SAABYY»AiC ' 2 I13&4CTSt
"6‘ =1 9 I1SEé»iC RCYABAUATYY»TiC T2acT=t - »AI»HC3- I3Ee»ii
E AVifisyasi 1=73tA | ROY=3A3AasAlacY oRSVARA- 450 USAT%=2 -AST3Y
SEST3YUY»A
1 2 3 4 5 6 7 8 9
03. TaRT31CH CREIYAIAIBY, 2 T3T3Y
01 | 01 [ 01 |T=&=37=3il3Y(S3YA=T3I3Y ~ T3a21u=3(gY 4,000.0 4,000.0
T36313A0=3Y U3AUCYY»AC A=Na3Yail
09 | 06 | 01 [03. TAAST=Y aui»TwY»iG NGUYSYAfA- 480 344,317.9 - 344,317.9 - -
3(1 Afal
0.2 3ABTC ACT 2 UGeY 1AM46 25,000.0 25,000.0
0. 2R 3ABTC ACT 5 UCeY 1AM4a6 26,000.0 26,000.0
-. E»6Y3fiaw¢ UGgY. 1Ana6 20,000.0 20,000.0
- 2AT»YGC AGT 1 UCcY 1Afi&6 50,000.0 50,000.0
- U»A0CY ~3%U3p»itc 1AM46 63,330.0 63,330.0
- 130T30»YC 18146 22,987.9 22,987.9
0. 2R 3A3TC AT 3 1AM46 67,000.0 67,000.0
- 2A=.3[47Y¢ 1&Ra6C NCUY3Yana- il 70,000.0 70,000.0
32. 12-=00= TrR&SAI=Y 2Y6U=Y T=2a=T6aiAl=Uu 6
09 | 06 | 01 [w=is¥=Y »isE3V»iig aeaio0=Y T=2ui=T»ial=y R=0=d 69,225.3 69,225.3
3YRA=ART -4800¢ O»élp»iasl
DD 2826274 B28%:4°1=25=20 364,920.7 - 261,820.0 - 103,100.7
31 Af4o0°
03. aAT31¢f CRE3YAIAI3Y, &»T3T3Y
01 | 01 [ 01 |T=é=1=3Al=3YSYA2T313Y " V3a=1u=3gY 4,000.0 4,000.0
T26=313A0=3Y U=3A0CYY»AC &A=N&=3Y4i0
09 | 06 | 01 [03. TAAST3Y aul»TwV»i¢ NCUY=Yafia- 460 261,820.0 - 261,820.0 - -
3(1 Af4o0°
- @A-3T»0¢ 1Af40 22,580.0 22,580.0
2ABASTG - P36CEC 1aia6G NCUY=Yana- ail 90,000.0 90,000.0
2ZASHAS3WC 0. T»100 ACT 2 18746 93,000.0 93,000.0
233G USAKC - UAIST»AWC UGeY 140 16,740.0 16,740.0
2A=A37G UShKC - a8T»T3+C ACT 2 UCeY 1&iia0 6,500.0 6,500.0
2ASA3WC UBAKC -. 20-»%3A1C USYTSASAT»E bYU 33,000.0 33,000.0
32. 12-=((= TRA&IAI=Y =Y6U=Y T=&=3T64aiAl=0p 6
09 06 01 [W3ixT3Y »fArE3Y»AC 464560U=Y T24UST>AA03Y f=0=d 99,100.7 99,100.7
SYASASRT - 400G Oréap»iiasl
DD 28021 £OE 928Y:A°1202U 596,052.7 159,970.0 325,000.0 - 111,082.7
3(1 Afal
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
15291895k ©1 T212520U°8k yEYSYEsIsY e boYusiig™ U B 1N
e 201 202600°8A =THEIAC - 1A P> ROYARAIANY»fiG an=1=v, 2 T&a¢ TSt
TR0 I3Eé»AC RCYABAIASYY»AC T=acyst - »41»%C3- (8o
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
03. TaRT31CH CREIYAIAIBY, 2 T3T3Y
01 | 01 [ 01 |T=&=37=3il3Y(S3YA=T3I3Y ~ T3a21u=3(gY 4,000.0 4,000.0
T263T3A03Y USAUCYY»AC &a3Na=3Vail
09 [ 06 | 01 |03. TAASTSY apul»ToY»AG NCUY3YARE- 450 275,000.0 - 275,000.0 - -
3 Al
- PATT»U»AG UCGY. 146 40,000.0 40,000.0
.. O»fiACY&T4d 1AMRAGC NCUY3Yafia- 4l 40,000.0 40,000.0
-, 2A-373Y1¢ 1446 50,000.0 50,000.0
-. 2U=603(C 1446 45,000.0 45,000.0
-. . 40&C 1anfao 60,000.0 60,000.0
- T30S T3R3TC 18146 40,000.0 40,000.0
09 | 06 | 01 [08. TAAST=Y Gpl»TWVY»AG RGYSA3AA4IAISHY 159,970.0 159,970.0 - - -
= Afail
. 2AT3U»TC Yai 1&Ra6G 136436430 50 36=3T. T»0G N30U37 70,000.0 70,000.0
-. 20-»1G 1446 89,970.0 89,970.0
“ BUIBUYSTIA3Y Ry Y] T3YCUY
10 | 06 | o1 |0k SAUSUYSTSASY BYOSAC W=YCYHfe 50,000.0 50,000.0
Yana-ail
3 Ajasl
2AU3TCAC USAKC @» T304AC 030303(CY N=U3(Yug
HRROTEREAT B>YisiG TVCUTHAG HZYaRa-USY K20 300000 300000
2AU3TCAC USALC @» 13UAAC 030303(CY N=U3(YuC
U3AOASNBAT B»YU»AC UATTU»AC ™ 3EWCx3YST3Y1I3TY»fC 20,000.0 20,000.0
»A3VaR4 - U3Y N3U=h
32. 12-300= TrkaAI=Y 3Y6U=3Y T=243T64A01301 6
09 | 06 | 01 [wsii»I3Y »ivE3Y»AC aeaiol=Y T3ri=T»Aal3y (=034 107,082.7 107,082.7
3YRA=ART -4800¢ O»élp»iasl
b 1°0=28g20UE0k @=28Y:8°T=282U 463,644.9 - 360,000.0 - 103,644.9
3 ATl
03. aAT31¢f CRE3YAIAI3Y, &»T3T3Y
01 | 01 [ 01 |T=é=1=3Al=3YSYA2T313Y " V3a=1u=3gY 4,000.0 4,000.0
T26=313A0=3Y U=3A0CYY»AC &A=N&=3Y4i
01 | 01 | 01 [17.W3fE=T=3Y aubsToY»i¢ ACOV3Yania- 4l 15,000.0 15,000.0
09 | 06 | 01 [03. TA=T=Y auboTuYoiic NcUY=Yaria-ail 345,000.0 - 345,000.0 - -
3 ATl
- I3YO3TC ACT 2 UGgY.2AM46 30,000.0 30,000.0
-. E3V¢30pl4snic 1ana6 40,000.0 40,000.0
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
15291895k ©1 T212520U°8k yEYSYEsIsY e boYusiig™ U B 1N
> = T o A e A SITCIY»AC - 1ai P»YU»fiC AR R L a0 anr313y, et
(S IE= 20J120a600°8A A AR Ay RCYATAIAGYY»fiC 2k TS&CT3t
"6‘ ] 0 ISEéx»i¢ RCYASAUATYY»AiC T2acT=t - »EI»YC3- I3Ee»ii
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SEST3YUY»A
1 2 3 4 5 6 7 8 9
- U. I»T38»YC ACT 2 UGGY. 1Af46 35,000.0 35,000.0
- 1. »T3B»YC UCeY. 1&Ra6 30,000.0 30,000.0
- B3ACT3YUC UCgY.2AM46 30,000.0 30,000.0
-. Tar=-(460C 1anas 65,000.0 65,000.0
-. 1ai3e3A¢ /A3%3 - (ai0¢/ 1&nfas 35,000.0 35,000.0
U3i36C ACT 4 1AM46 45,000.0 45,000.0
1 3A1»YCIC ACT 3 1Afi46 35,000.0 35,000.0
32. 12-300= TAR&iAI=3Y 3Y60U=3Y T=&43T64aiA0=0u 6
09 06 01 [WSixT3Y »ixE3Y»fiC aieaioU=Y T24U3T»Aal3Y (=034 99,644.9 99,644.9
3YRA=ART -4800¢ O»élp»iasl
PP EAé&a6 26%a°71252U 908,937.5 640,000.0 134,520.0 - 134,417.5
S{L ATail
03. TT4AT31¢A CRE3Y4IA(SY, &» =3T3y
01 01 01 |T=2é313i03Y (YA T3T3Y ~ w3as1u=3gY 4,000.0 4,000.0
T26=313A0=3Y U=3A0CYY»AC &A=N&=3Y4i
09 06 01 (03. TAA=T3Y apl»TwY»AG NCUY=3Yana- 450 134,520.0 - 134,520.0 - -
{1 Afail
E4éad USfiug -. 10AIYC ACT 1 1&Ra6 48,520.0 48,520.0
E4éad USfiug -. 2EASESIC ACT 1 1AM46 50,000.0 50,000.0
E4éad USfuC 0. 1 3Y304AC ~ 34%ail A303U36C
UV T=&2ToC RCUY=VaRA- 410 36,0000 36,0000
32. 12-=0(= TRA&IAI=Y =Y6U=Y T=&=3T64aiAl=0u 6
09 [ 06 | 01 [W=i»T=Y »AvE3Y»MC 46406U=Y T2%I=T»AA0=3Y =U=h 130,417.5 130,417.5
SYASASRT - 400G Oréap»iiasl
03. Mia0=3T3Y pY3T23i=(fifai0 »ATA=R3AAC
10 06 01 |N»a"3YUAT 3Y0A"3Y UY363T AYT3Y0uy»i¢ N=U3A 640,000.0 640,000.0
UYST3i3Y3(0Y ReY3hi=hiashlasy
Pb PASZTE B28%4°1252U 624,814.5 255,000.0 238,916.0 - 130,898.5
SENEN)
03. M&RT=1CA CRE3VAIAISY, &» 313y
01 01 01 |T=2&373i03Y (BYAST313Y ~ T3A2103(gY 4,000.0 4,000.0
T36313A0=3Y U3AUCYY»AC A=Na3Yail
09 06 01 (03. TAASTSY QuisTwY»ig NGUY=YAfR4 - 450 238,916.0 - 238,916.0 - -
={1 Afail"
-. 2U=3603jC UCgY.1&fa0 50,000.0 50,000.0
Adiide - 140 2446 49,744.0 49,744.0
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301 Afaile AT TSEEST»E3TY»AC

ISEé»fiC
AY130»YA 4
CYVE3ST3Y . (JBE3. [BlyT3
15291895k ©1 T212520U°8k yEYSYEsIsY e boYusiig™ U B 1N
> = T o A e A SITCIY»AC - 1ai P»YU»fiC AR R L a0 anr313y, et
(S IE= 20J120a600°8A A AR Ay RCYATAIAGYY»fiC 2k TS&CT3t
"6‘ ] 0 ISEéx»i¢ RCYASAUATYY»AiC T2acT=t - »EI»YC3- I3Ee»ii
= | Avafi=vasn T=7=tA | RCY3A=rasAlasy oRevata.ay USRS A=T3Y
SEST3YUY»A
1 2 3 4 5 6 7 8 9
-.a»U3B»YC UCeY. 1AM46 94,462.0 94,462.0
-. @»0A30»YC UCGY. 1AR40 44,710.0 44,710.0
09 06 01 (08. TAASTSY (ul-ToY»iG RCY3AA4IAI4SY 80,000.0 80,000.0 - - -
3 Ajasl -
- Daoe3»H3YC /2r460/ UCCY. TAM&6 80,000.0 80,000.0
32. 12-300= TrRaiAI=3Y 3Y60U=3Y T=2&43T64aiA0=0u 6
00 | 06 | 01 [W=fsT=V »ivE=Viic aiasel=Y TS ToRAISY =024 126,898.5 126,898.5
SYRA=ART - 450G Ovédpniasl
03. 0410=T=Y pY=T=720fi»A400 »ATASRAAC
10 06 01 [M»w"3YUAT YA 3Y UY26=3T AYW3YCUY»A¢ N=30=3 175,000.0 175,000.0
LYST3A3Y3(CY RCY=3A34iAI40Y
PP 127 A0bE @28Y.4°1T26=2U 287,356.2 34,000.0 186,700.0 - 66,656.2
S0 Afa)’
03. T4AT=1GA GRE=VAIAISY, &»i=T3Y
01 01 01 |T=2é313i03Y (YA T3T3Y ~ w3a31u=3gY 4,000.0 4,000.0
1262313403y U=3A0CYY»AC &A=N&=3Y4i0
01 01 01 |07. W3fE3T3Y aulsTwY»A¢ ACOY=Yaria- 430 15,000.0 15,000.0
09 06 01 (03. TAA=T=3Y apl»ToY»AG NCUY=3Yana- 450 171,700.0 - 171,700.0 - -
=3(1 Arail
-. D20A3Y=1( 1&4A40 51,000.0 51,000.0
0. “»A1C N 1 1AM46 80,700.0 80,700.0
- A3631303A¢ 14ia0 40,000.0 40,000.0
09 06 01 [08. TAA=T3Y apl»TY»fiG RCY2i3naiAlasy 34,000.0 34,000.0 - - -
=3(1 Arail”
-. PATuG U3f%313NECx 34,000.0 34,000.0
32. 12-=0(= TRA&IAI=Y =Y6U=Y T=&=3T64aiAl=0u 6
09 [ 06 | 01 [W=»T=3Y »AvE3Y»iC 46406U=Y T24I=T»AA0=3Y =0=h 62,656.2 62,656.2
SYASASRT - 400G Oréap»iiasl
PP éUabULsE §28%4°1252U 466,759.6 - 385,840.0 - 80,919.6
3 Al
03. T14RT=1CA CRESV4IAIY, A»T2T3Y
01 01 01 |T=2&373i03Y (BYAST3I3Y ~ T3AS103(gY 4,000.0 4,000.0
T36313A0=3Y U3AUCYY»AC A=Na3Yail
09 | 06 | OL 03 TiAST=Y ubsTYohg RGUY=Yana- 410 385,840.0 - 385,840.0 - -
S Ata
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301 Afaile AT TSEEST»E3TY»AC

T12E&»iC
AY13U»YA a3
CYVE3ST3Y . (JBE3. [BlyT3
1527895 ©1 T2123200°84 JEYsvestsy A SR R L bl e
> = it IWCTY»fiC - 141 b»Yu»fi€ X 2 ar3I13Y, i
(S IE= 20J120a600°8A i AR A RCYATAIAGYY»fiC 2 T34CTSE
"6‘ =1 9 I1SEé»iC RCYABAUATYY»TiC T2acT=t - »AI»HC3- I3Ee»ii
= | AVifisyasi 1=73tA | ROY=3A3AasAlacY oRSVARA- 450 UBAT%3 - AST3Y
SREST3YUY»i
1 2 3 4 5 6 7 8 9
0. T383YC ACT 13 1Af46 12,200.0 12,200.0
-. PI3YC04RC UCeY.1Af46 76,430.0 76,430.0
0. T383YC ACT 11 1&f46 31,680.0 31,680.0
.. afaT3YC (8CeC3Y) 1&fa0 50,000.0 50,000.0
U. 8CEC3YC T3S I3RAc3YC ZEE3AI3Y NBUSIVUC TARAGC
RGOV =VaRa- 400 7,500.0 7,500.0
.. @3¢Y3TaYuC 1&RasC NCUY3Yania- ail 50,000.0 50,000.0
0. 8CEC3YC ACT 2 1ARA6C NCUY3Yaria- &l 44,710.0 44,710.0
. T3&3Y¢ ACT 3 TRA3NS3USECAC NCUY3Yana- aiU 67,020.0 67,020.0
U. T4ACEC ACT 1 1&fad 46,300.0 46,300.0
32. 12-=00= TrR&SAI=Y 2Y6U=Y T=2a=T6aiAl=U 6
09 06 01 [WSixT3Y »ixE3Y»fi¢ ai6aioU=Y T24U3T»Aal3Y (=034 76,919.6 76,919.6
3YRA=ART -4800¢ O»élp»iasl
PP ¥2Ua0 048k @=28%:.a°128=20 988,978.3 150,000.0 803,680.0 - 35,298.3
32 Af4o0°
03. aAT31¢f CRE3YAIAI3Y, &»T3T3Y
01 | 01 [ 01 |T=é=1=3Al=3Y YA T3T3Y " V3a=1u=3gY 4,000.0 4,000.0
T26312A0=Y UAUCYY»AGC &=N&=Y4ail
01 [ 01 | 01 [07.W=fa=T=Y aub»TaY»i¢ NCUY=Yaria- il 15,000.0 15,000.0
06 | 03 [ 01 |04. EU»t4d ¢hi=- I»AG T=64046400 150,000.0 150,000.0 - - -
3(1 Al
Pb 13046 0&AC U3¢ T30 -20» - Y304 EUxkad
AT 3AC T2645640 150,000.0 150,000.0
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